2t O0£t£1
1 otw="

o1 L[ ()]

2.y +2y+2y=d(t- p),y(0)=y'(0) =0

3 Mz B LV - 4y 42K B A T RS R
ERE S SRMASTE S

4.F F(x,y,2) =3 +xy* +yz . 2:(1,0,0) e i ¥ (1,2,-3) > » 2. > » o dco
5.%1 :dxz +y)ds (D) cisFy=-xd (2-2)%2(1-1) (2) ¢y % x*+y*=4
g pF4td (0,2) 1 (2,0) -

6.1 * 4T & ”‘LIE—’.T\@‘QX zdydz + x*yzdzdx + x*z°dxdy * H ® S: x*+y*=4 >

z=0> =513, * 2 P £ m o

7.F=3yl - xd+yz?k > St xe+yP=2z 0 0£2£2 > G’ F . Ads

él 2 -1 3 1u
€0 1 -3 2 3y
8.A=é2 3 1 4 -10- Frank(A) -
e u
§12 2 2 -5
83 1 -1 2 4§
61 2 24
9.C=31 2 -1 a F#FpEz e € b £ P RP'CP=D D
81 1 4§

» FHciEEL o
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15. 3 #ic f (t) = e (cos3t +sin3t) 2. Laplace ## 3

16. f<d#c f (t) =tsin3t - tcosh3t 2. Laplace # %
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W% yeUdx+ xedy =0
#7134y +16y+17y =0, Y(0)=1, y(7)=2
iz y'- y-2y=4x%, y(0)=1, y’(0)=4
#f2 Xy 3xy'+4y =0
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fxy.z)=x+xy+2*, = x(t)=t, y(t)=t*, z(t)ztﬂl%
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8. #f&u, +2u, +u, =0
9. FfEF B 50

E—aﬂ O<x<p, t>0,

TR e
B.C. u(0,t)=0 (t>0)
u(L,t)=0 (t>0)
[.C. u(x,0)=f(x) (0<x<p)
10. Solve the boundary value problem
u =3u,, 0<x<p, t>0
u(0,t)=u(p ,t)=0, u(x,0)=4sin2x

11. Solvethe differential equations by using an appropriate substitution:

XZ%- 2xy =3y*, y()=1/2

12. Solve the given differential equation by finding an appropriate integrating factor:

y(Iny)dx +(x- Iny)dy =0
13. Solve the given differential equation: % +(tanxX)y =cos*x, y(0)=-1
X

14. Find the solution of T : ?j—l- =k(T-T,); T(0)=T,,k,T,andT, areconstants

15. Solve the given Cauchy-Euler equation:  x*y®+ xy¢+y =0, y(1) =1, y€1) = 2

16. Solve: x?y@- 2xy¢+ 2y = x*e*
17. Solve the differential equation by variation of parameters.

y@&+ 2yt 8y =2 - ¢ %, y(0) =1, y§0) =0

2
18. dt;(+W2X: F,sinwt; x(0) =0, %(0) =0, Fo and w are constants
_ apo_1 O_
19' y®+4y_-21 y____,y _——2
8891 2 " e8g
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f2y@+4y=cost, y(0)=2, y§0)=-3

f2  @+3K+4k+2x=t

idx_3x+y

I dt 100 100

Tﬂ:SL_ 3 y

fdt 100 100

, %(0)=0, %(0)=0,

x(0) =100, y(0)=0

x(0) =1



